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Around-the-Room Review

for the 

2B Unit Test

Use a piece of notebook paper to show your work 

and answers.

Question #1

Which value(s) below would equal 2.34? 

A. 6.45 – 4.11 

B. 7.89 – 4.65 

C. 17.1 – 7.38 – 7.38

D. 8.25 – 5.82
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Question #2

Hassan eats 2.3 pounds of apple pie at 

Thanksgiving. Hanan eats 1.34 pounds of 

apple pie. How much pie did they eat in all?

A. 3.6 pounds

B. 0.96 pounds

C. 3.64 pounds

D. 3.082 pounds

Question #3

Alyssa goes Thanksgiving shopping with Ella. 

They each have $17 to spend.  They buy a pie 

for $6.25, stuffing for $2.18, cranberry sauce 

for $1.45 and a 15 pound turkey for $23.36. 

•How did they spend in all? 

•Did they have enough money? 

•If so, how much money do they have left? 
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Question #4

Shawn writes 6 tenths minus 4 hundredths on 

the board. Which statement below shows his 

work correctly?

A. 0.06 - 0.4 = 0.34

B. 0.6 – 0.04 = 0.56

C. 0.6 – 0.04 = 0.20

D. 0.06 – 0.04 = 0.02

Question #5

Which model below shows 0.08 * 5? 
(* means multiply)
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Question #6

Isabella is setting the table for Thanksgiving. 

The rectangular table is 8.45 feet by 3.2 feet.

What is the area of her table?

A. 27.04 feet squared

B. 5.25 feet squared

C. 23.3 feet

D. 11.65 feet

Question #7

Match the problems with the correct answers.

26 x 45 = ____

26 x 4.5 = ____

0.26 x 45 = ____

2.6  x 45 = ____
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Question #8

True or False?

The product of 2.3 and 2.1 is 4.83? True or False 

The product of 4.8 and 0.3 is 2.44? True or False 

The product of 0.09 and 0.7 is 0.063? True or False 

The product of 0.21 and 0.35 is 0.735? True or False

Question #9

Draw a model using base ten blocks to show 

3.3 ÷ 3. 

Solve the division problem also. 
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Question #10

Kurtlene has a Thanksgiving ribbon that is 34.5 

yards long. She will cut the ribbon in 5 equal 

pieces to make decorations. 

What is the length of each piece?

A. 39.5 yards 

B. 172.5 yards

C. 3.95 yards

D. 6.9 yards

Question #11

True or False?

The quotient of 0.24 / 0.03 = 0.08? True or False 

The quotient of 0.3 / 0.05 = 6? True or False 

The product of 0.54 and 0.9 is 6? True or False 

The product of 0.81 and 0.09 is 9? True or False
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Question #12

Scott goes shopping the day after Thanksgiving.

He buys a Gravitrax kit for $59.99. The store 

gives him a coupon for $5.00 off. He also uses a 

gift card that had a balance of $12.23 on it. How 

much did Scott end up buying the Gravitrax kit 

for?


